23, 805

LT 1T LT 1 LTS LT i} LT 1=
O O O O
m) O u| O C
S
ps
! O] O C
1= 0
|
sS E@ &
o 0 O © 0 C
[0l
wWC
O < <&
—
weC <>
> m) | = 0
3 @)
) 0
O
i = = ) = O
w12 m - 0 0 O
D1 D4 [ -
L .
) 0 N 0 0 In
LK O =) ] ] O O
|_ T 1 L 1 1 (mml 1
57,500

[ smms [ o [ Bor [ Bor(Loansa [ porcenmsss 0 B 1REEEE

' 18 SETER (FXRAEH) S=1/400 0 5 10 20

||||||




23, 805

Ty Lo 0o O
H pSZI O O O
(B —n o B
J[E QO %
[ . WG |>sl_| | ]WGIJ
=< QS Q
T = O
R
O m o

65, 035
O
O
[]

L @)
O 1 O O ] O =)
o
o
] n O O 0 O m| ® || =
(= o]
we Q
—‘; ps -
we _[Xmg i
[ 1 _eps im M O L[ S (] V[T
L
ﬂ:l' O L
57, 500

[ Jsemams [ ro [ por [ por(Lransa) [ 8T GERELER) 1BEFEmEE

&4 18 SETER (ELEREH) S=1/400 0 5 10 20

||||||




)

m)

65, 035

L

28, 800

()
(J
dJ
d

57, 500

[ Jsermsy [ Joro [ ot [ Bor(LimasH) [ |BOTGERIEEER) 2 [EFmEX

' 18 SETER (FXRAEH) S=1/400 0 5 10 20

||||||




23, 805 . . 23, 805

.
I
Lo Lo %
8 3
8 — 8 —
= = 8
| Ol O 0 O 0O [f = ol
We = P a ﬁ
{—_ | DU =
7 =n bl
AL [ eps m 0 0 |
1 (— — 1
O O O ] |
ps ps
e S——— 1 =
57, 500 | | 57, 500
[ lsemamsy [ ro [ ot [ Bor(LrsasH) [ |BOTGERIE AR 3EFmEEX | lsmms [ pro [ ot [ BoT(LraasH) [ |BOTGERIELEE)
4 B mE X

&4 18 | SETER(SEREH) S=1/400 0___ 5 10 20




23, 805 23, 805
O 0 i 0 0
/g
%
J eps |
WC ps u
[
- B<&
E}} : <
L1
= u
8 - 8
8 | 8
]
S u 0 O] 0 u
]
' [ 8 =
= T 1 O o | = T u O e
We | . * i <
e | MM | 4— [ D[Dd e
We P t W &
[ 1 s 0 il 1 eps o
1 I ‘
= H 8 = g e e e e T e T e e
1,900
57,500 | | 57, 500
| Jxmims [ Jpro [ ot [ BoT(LrausA) [ |BOT (GERIELHER) 5EFEmE | s [ ro [ ot [ Bor(LegasH) [ |BoTGERIE LR 6 T mX
‘¥ 18 SETER (FERHEH) S=1/400 0 5 10 20

I S — — — —J




23, 805

(7]

WG P

:
1D

23, 805

O
O

FIEARE

0 i - 12
o o
g 8
=[:| ] | O ] O =, O O v O
3 S
T - O ) 1 O O @) T - I | u O a @
We a We g
|- [ DAIM] | 50 D]
We : We
[ _evs [ 0 u| O [ _evs [ 1 0 O
g |l ol o ! W—L—«m’—%ﬁ%=
1.900 1,900
57, 500 57, 500
| s [ Jpro [ ot [ BoT(LrausA) [ |BOT (GERIELHER) 7 BEFmEmX | s [ ro [ ot [ Bor(LgasH) [ |BoTGERIE LR 8 FEFmX
& 18 SETEE (BEHEH) S=1/400 0 5 10 20




65, 035

1,900

23, 805

/4

WG ps

K

0

ik

. [

1.900

917, 500

| |emms [ Jpro | ot [ Bor(Lrgask) [ [BOTGERIE IR

28, 800

ORE - E X

65, 035

23, 805

97,500

28, 800

#¥ 18

ZETER (FEAHMEH)

S=1/400

0

5 10

I S — — |

20




=
® 88
<t N = —_
RSL, UKF) [ ge=—n i 7T n] [ ] Tlem—re—n ] U ] [ f— 1 —752
[=] |
(=]
(=]
T2FL <
g8
TIFL o -
f=]
8_ - - - - =
1TOFL ~ “
[ B - - - - - - - f=l
= V+40 2
9FEL o “
~F
v L | - _ - - — — — _ _ _ V+31, 240 _ _VPHFL
[=] (=]
(=1 _ _ P=y
=1 ] =) g
f=] . i 0 ~=t|
BgL | g~ | _ _ _ _ _ _ _ e A0p v —Bra
o B9 e 8
8 "8 7 g
) o) )
& BE T _ - _ _ _ _ S N - | - o vel <
— o f=1
SERE / s
gL L o _ _ _ _ _ _ _ _ N L/ _ 1 v T
o b | . g
: ([ ] ERE
J A o o~
5FL L —sF _ _ i = V6FL g
— — — — — — — — — (=] f=l
o g / | S
[=2] - L
3 / VEFL =8
4FL ~ . - 3
A 4 - _ - = = = _ _ _ [=10"
2 s S|
R VAL~
3EL & | |
I~ - - - - - - - - p=1
: X ::
pEL S _ | 7 _ | v
=t
v L = _ _ . _ _ _ [ [T TTIT =
(=]
o =t
3 I B .| R
< - |
=t
v16.99 L h L =
41635 2= b 3
1FL s i - - o ¥
b - VIR &
2 8 ATP+1342
< 7
[Te] [e=]
BI1FL — g g
_ _ _ _ _ _ _ _ _ [ ks
‘ _ VBIFL
=9, 800

& 19 | ZEEE S=1/400 0 5 10




